
CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P60

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P60:Σl−F10_L,1(λ)=20,98
xF10_L,1=0,2338
yF10_L,1=0,2437



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P55

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P55:Σl−F10_L,1(λ)=21,06
xF10_L,1=0,2420
yF10_L,1=0,2558



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P50

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P50:Σl−F10_L,1(λ)=21,18
xF10_L,1=0,2525
yF10_L,1=0,2705



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P45

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P45:Σl−F10_L,1(λ)=21,38
xF10_L,1=0,2663
yF10_L,1=0,2884



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P40:Σl−F10_L,1(λ)=21,69
xF10_L,1=0,2849
yF10_L,1=0,3102



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P35

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P35:Σl−F10_L,1(λ)=22,19
xF10_L,1=0,3103
yF10_L,1=0,3364



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P30

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P30:Σl−F10_L,1(λ)=23,06
xF10_L,1=0,3457
yF10_L,1=0,3669



CG510−1A_1

Wellenlänge λ /nm
400 500 600 700

P25

0,0

   

1,0

   

2,0

HPE_CIEF-Zapfen-Empfindlichkeit  y−max(λ)=1
l−F10_L,1(λ)=B11x

−
F10_L,1(λ)+B12y

−
F10_L,1(λ)

+B13z
−

F10_L,1(λ)
B1j 0,2170 0,8357 −0,0435λ=570

P25:Σl−F10_L,1(λ)=24,64
xF10_L,1=0,3950
yF10_L,1=0,3986


